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Background
During the drafting of the TPs for the test models in subclause 4.9.2.2 in 38.141-1 and 38.141-2, there were implementation concerns for filling REs in the first part of the slot. As shown in the figure below, filling the “orange” region is the subject. It occupies 2 symbols  (NRB-3) RBs. For nomenclature, we will use “filler region”.
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In LTE, this filling procedure was achieved using PDCCH because the entire control region was filled with PDCCH. The power was statistically equal on each symbol.

Problem
Although there are multiple ways to specify the CORESET configuration, it is not possible to ensure that the entire bandwidth is occupied by PDDCH. Thus, the remainder of the PRBs in the first two symbols are left unoccupied. 
This is not a problem for TM2 because it is a single PRB test.
Note for EVM measurements, the first two symbols are not measured..
However there are concerns about impact to amplitude statistics of the waveform, from PAPR perspective.


Agreements
· For the current release of 38.141-1 and 38.141-2, the filler region will be unoccupied.
· For next meeting, companies are encouraged to investigate the RF performance impact with the current specified description of the first one or two symbol(s). 
· If there is performance impact, companies are encouraged to investigate alternatives. Consideration of implementation can be evaluated, including, for example, all BW/SCS permutations, the number of unique NR TM complexity in design. Some options listed below.

Some options for the filler region
· (option 1) Have PDCCH span entire symbol; satisfying a maximum of  RBs
· (option 2) The filler region is occupied by PDSCH corresponding to another user (e.g. third user N_RNTI = 3) 
· (option 3) The filler region is occupied by PDSCH of user 1 (and user 2). Their PDSCH will span the entire slot (all 14 symbols) except for the PDCCH
· (option 4) Create a second PDCCH to occupy the filler region as much as possible within the first two symbols
· (option 5) Double the number of CCEs so that the number of occupied RBs is 6 across 2 symbols.
· (option 6) Move PDCCH to center of bandwidth
· (option 7) PDCCH 1 CCE spanning only 1 symbol only
· (option 8) keep current design
· Other options not precluded


